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Lepremier
local N,S,C
local j,f; 
C:=1; 
tantque(fl
   C:=C+1 
ftantque 
afficher("
avant d'ob
} 
:; 

Lepremier
local N,S,C
local j,f; 
saisir(N); 
S:=0 
pour j de 1
  C:=1 
  tantque(f
     C:=C+1
  ftantque 
  S:=S+C 
fpour 
f:=S/N 
afficher("
avant d'ob
"+round(f
} 
:; 
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Pileouface
local N,F,I
saisir(N); 
F:=0; 
pour I de 
   si (floor(
      F:=F+
   fsi 
fpour 
freq:=F/N
afficher("A
fréquence 
sortie de f
+round(fr
} 
:; 

Pileouface
local N,F,I
saisir(N); 
F:=0; 
DispG(); 
ClrGraph
pour I de 
   si (floor(
      F:=F+
   fsi 
   freq:=F/
   
affichage(
rouge); 
   
affichage(
bleu); 
fpour 
 
afficher("A
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+round(fr
} 
:; 
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h; 
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boules_1()
local freq,
R := 0; 
pour I de 
  si floor(r
    R := R+
  fsi 
fpour 
freq := R/1
afficher(ro
} 
:; 

boules_2()
local N, fr
saisir(N); 
R := 0; 
pour I de 
  si floor(r
    R := R+
  fsi 
fpour 
freq := R/N
afficher(ro
}:; 
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boules_3()
local N, fr
saisir(N); 
R := 0; 
DispG(); 
ClrGraph
pour I de 
  si floor(r
    R := R+
  fsi 
  freq := R
  affichage
  affichage
fpour 
afficher(ro
} 
:; 
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treize():={
local S,I,R
S:=0; 
I:=0; 
tantque S<
  I:=I+1; 
  R:=floor(
  S:=S+R; 
ftantque 
afficher("
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} 
:; 
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March_Al
local alea,
//alea : val
//x : abscis
//y : ordon
//j : numér
//n : temps
robot        
 rest
essai 
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robot  rest
essais 
//m : temp
 rest
essais 
//essais : n
saisir(essa
s := 0; 
pour j de 1
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  x := 0; 
  y := 0; 
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    alea := f
    si alea==
    fsi 
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:; 
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reserve_in
local 
n,i,j,nb_ec
nb_echant
compteur:
DispG(); 
ClrGraph
pour i de 1
  n:=0; 
  pour j de
    si rand(
      n:=n+1
    fsi 
  fpour 
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} 
:; 
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lievre_tort
local De,T
saisir(N); 
G_Tot := 0
pour k de 
  Tortue :=
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